College Algebra — Joysheet 8 Name: Sa..J 0%
MAT 140, Spring 2016 — D. Ivan3ié¢ Covers: 8.1, 8.2, 8.8 Show all your work!

Simplify, so that the answer is in form a + bi.
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3. (4pts) Simplify and ]ushfy }our answer.
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4. (6pts) Starting from rest, an object falling ¢ seconds travels approximately s = 5t
meters. How long would it take for a TV set to fall from a tower 80 meters tall?
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7. (12pts) The quadratic function f(z) = 4z* — 4z — 15 is given. Do the following without
using the calculator.

a) Find the z-intercepts of its graph, if any. Find the y-intercept.
b) Find the vertex of the graph.

c¢) Sketch the graph of the function. /
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8. (l4pts) Cory has a plot of land that is 45 by 70 meters. He plans to irrigate it from a
well inside the plot (whose location is not known in advance) with a hose 60 meters long. In
order to be sure the hose can reach all parts of the plot he decides to reduce the dimensions
of the plot: the 45-meter side by a certain amount, and the T0-meter side by 5 meters more
than the amount the 45-meter side is reduced. By how much will Cory reduce the 45- and
T0-meter sides to be sure that the hose can reach every part of the plot, wherever the well is
in the plot? (Note that this is equivalent to having the diagonal of the new plot be 60 meters,
since the di:gagonal represents the greatest distance between any two points in a rectangle.)
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